
Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Co

nt
en

t P
ag

e S0
0

Fo
r R

ev
ie

w

09
.1

0.
20

17

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

Contents

S0  Site Plan 
S1  Plan
S2  Northeast Section
S3  Southwest Elevation
S4  Northwest Elevation
S5  Planting Diagram
S6  Sun Diagram
S7  Opening Mechanism Detail
S8  Schedule
S9  Budget and Materials List
S10  Studio Setup
S11  Structure Components
S12  Panel Components
S13  Conduit Measurement
S14  Connection Components
S15  Cut Sheets 
S16  Internal Bracing 
S17  Joints Detail
S18  Edge Detail 
S19  Stakes Detail 
S20  Handle Detail
S21  Assembly/ Disassembly
S22  Transportation



Pa
nt

he
r H

oll
ow

 Rd
.

Frew St.

Fre
w St

.

Schenley Drive

Schenley Drive

Phipps Conservatory and
Botanical Gardens

City oĨ PiƩsburgh
      Phipps Conservatory 

Proposed Hoop House

N

S0
Si

te
 P

la
n

Ho
op

 H
ou

se
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n 

:u
st

 ͚D
ui

t
Co

lle
en

 D
uo

ng
Ed

w
ar

d 
Fi

sc
he

r
Ry

u 
Ko

nd
ru

p
 A

le
 M

ez
a

Is
ab

el
la

 O
uy

an
g

An
th

on
y 

Ra

Fo
r R

ev
ie

w

Sc
al

e:
 1

/2
’’-

 1
’ 

09
.1

0.
20

17

1 
of

 2
9

N



Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Pl

an

S1
Fo

r R
ev

ie
w

Sc
al

e:
 1

/2
’’-

 1
’

09
.1

0.
20

17

2 
of

 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

N

3’-6”

8’-0”

4’-4” 3’-4”

3’-0”

Planter Bed Planter Bed

Planter Bed

Planter Bed

Hoop House

Hoop House

Hoop House

Grass talŬway Grass talŬway Grass talŬwayGrass talŬway



2’-10”
 10”

3’-7”

N

S2
Ho

op
 H

ou
se

Ju
st

 ‘D
ui

t
Co

lle
en

 D
uo

ng
Ed

w
ar

d 
Fi

sc
he

r
Ry

u 
Ko

nd
ru

p
 A

le
 M

ez
a

Is
ab

el
la

 O
uy

an
g

An
th

on
y 

Ra

Fo
r R

ev
ie

w

Sc
al

e:
 1

’’-
 1

’ 

09
.1

0.
20

17

3 
of

 2
9

3’-7”

1/2” Metal Conduit

Metal Stakes

1’-1”



S3
El

ev
ati

on
 Ͳ 

So
ut

hw
es

t
Ho

op
 H

ou
se

Ph
ip

ps
 C

on
se

rv
at

or
y 

Ro
oft

op
 G

ar
de

n 

:u
st

 ͚D
ui

t
Co

lle
en

 D
uo

ng
Ed

w
ar

d 
Fi

sc
he

r
Ry

u 
Ko

nd
ru

p
 A

le
 M

eǌ
a

Is
ab

el
la

 O
uy

an
g

An
th

on
y 

Ra

Fo
r R

ev
ie

w

Sc
al

e͗
 1

͛͛Ͳ
 1

͛ 

09
͘1

0͘
20

17

4 
oĨ

 2
9

N

3͛Ͳ7͟

2’-10”
3’-10”

1/2͟ Metal Conduit

Metal Stakes



N

S4
El

ev
ati

on
 Ͳ 

N
or

th
w

es
t

Ho
op

 H
ou

se
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n 

:u
st

 ͚D
ui

t
Co

lle
en

 D
uo

ng
Ed

w
ar

d 
Fi

sc
he

r
Ry

u 
Ko

nd
ru

p
 A

le
 M

eǌ
a

Is
ab

el
la

 O
uy

an
g

An
th

on
y 

Ra

Fo
r R

ev
ie

w

Sc
al

e͗
 1

͛͛Ͳ
 1

͛ 

09
͘1

0͘
20

17

5 
oĨ

 2
9

8͛Ͳ5͟

2͛
Ͳ1
0͟

1͛
Ͳ1

͟

3͛Ͳ10͟

1/2͟ Metal Conduit

Metal Stakes



Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Pl

an
tin

g 
Di

ag
ra

m S5
Fo

r R
ev

ie
w

Sc
al

e:
 1

’’-
 1

’

09
.1

0.
20

17

6 
of

 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

Swiss Chard
Grows up to 12 inches

CauliŇower
Grows up to 24 inches

Brussel Sprouts 
Grows up to 48 inches

Cabbage
Grows up to 15 inches

Savoy
Grows up to 12 inches



Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Su

n 
An

gl
es

 D
ia

gr
am S6

Fo
r R

ev
ie

w

Sc
al

e:
 1

’’-
 1

’

09
.1

0.
20

17

7 
of

 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

Maximizing Sunlight Collection 
through Hoop House Surface

early morning -
 90° from ground plane

midmorning - 
77° from ground plane

late morning -
63° from ground plane

solar noon -
50° from ground plane

N



Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

o�
op

 G
ar

de
n

Ho
op

 H
ou

se

S7
Fo

r R
ev

ie
w

Sc
al

e:
 1

’’-
 1

’

09
.1

0.
20

17

8 
of

 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

O
pe

ni
ng

 M
ec

ha
ni

sm
 D

et
ai

l

Locking Hinge Sequence

steel hook

locking hinge

locking hinge

rotating conduit hinge

rotating conduit hinge

hoop cover

hoop cover

Rotating Hinge Detail

1.

2.

1.

2.



Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
ej

an
dr

a 
M

ez
a

Is
ab

el
la

 O
uy

an
g

An
th

on
y 

Ra
S8

Co
ns

tr
uc

tio
n 

Sc
he

du
le

Ho
op

 H
ou

se
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n 

Ju
st

 ‘D
ui

t
Fo

r R
ev

ie
w

Sc
al

e:
 N

/A

09
.1

0.
20

17

9 
of

 2
9

Monday Oct. 9th
Cut and Bend Conduit Panel Components
Cut Plastic Panels

Tuesday Oct. 10th
Cut and Bend Conduit Panel Components
Mark placement for holes

Wednesday Oct. 11th
Drill holes in conduit
Assemble panels
Begin aƩaching plastic to panels (once holes are drilled)

Thursday Oct. 12th
Finish aƩaching plastic to panels
Build Bracing 

Friday Oct. 13th
Heat ShrinŬ Plastic

Saturday Oct. 14th
Cut and Bend Conduit Base
Drill Holes in Base

Sunday Oct. 15th
Create and install triangle panels (edge details)

Monday Oct. 16th
Create and assemble handles on panel
Create and assemble opening mechanism

Tuesday Oct. 17th
Test assembly and movement then address possible problems

Wednesdy Oct. 18th
Transportation and Installation



Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
M

at
er

ia
l a

nd
 B

ud
ge

t L
ist

S9
Fo

r R
ev

ie
w

Sc
al

e:
 N

/A

09
.1

0.
20

17

10
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

 per Unit    Total Cost

Grand Total $97.41 

1/2” Steel Conduit

1/2” PVC Pipe

3/8” Aluminum Tube

1/4” x 2” Bolts

1/4” Nuts

1/4” Washers

140’ - 9” ;includes 3”tolerance 
for error on each bent piece)

$2.00 per 10’ length $30

116” $2.17 per 10’ length $2.17

64” $10 per 36” length $20

32 $5.28 per 50 pack $5.28

4 $4.17 per 25 pack

$2.87 per 50 pack44

$2.98 per 0.05” x10” x 8” sheet $2.98

1/2” 15” Stakes

1/4” x 4” Bolts

8

Acrylic Sheet

1/4” x 3-3/4
Threaded Hook

1

2 $0.62 $1.24

$4.17

18

$2.87

$2.46 per 25 pack $2.46

$3.28 $26.24



N

Room 211 - Plan

Team ATeam B

27’-10”

19
’-8

”

3’-5”4’-0”

8’
-0

”

8’
-0

”

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

o�
op

 G
ar

de
n

Ho
op

 H
ou

se

S1
0

Fo
r R

ev
ie

w

Sc
al

e:
 1

/3
’’-

 1
’

09
.1

0.
20

17

11
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

St
ud

io
 S

et
up



B

F1

F2

F3

F4

F5

A

A

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
St

ru
ct

ur
e 

Co
m

po
ne

nt
s

S1
1

Fo
r R

ev
ie

w

Sc
al

e:
 N

/A

09
.1

0.
20

17

12
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra



F1.1

F1.2

F1.3

F1.4
C

C

C

C

F1.1

Material: Conduit
Length: 72”
Bend: 45.75ȗ

F1.2

Material: Conduit
Length: 34”
Bend: 51.2ȗ

F1.3

Material: Conduit
Length: 34”
Bend: 90ȗ

F1.4

Material: Conduit 
Length: 27”
Bend: 65.4ȗ

C x 4

Material: PVC
Length: 4”

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Pa

ne
l C

om
po

ne
nt

s -
 F

1

S1
2

Fo
r R

ev
ie

w

Sc
al

e:
 N

/A

09
.1

0.
20

17

13
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra



C

C

C

C

C

C

F2.1

F2.2

F2.3

F2.4

F2.5

F2.6

C x 6

Material: PVC
Length: 4”

F2.1

Material: Conduit
Length: 71”
Bend: 45.75ȗ

F2.2

Material: Conduit
Length: 31”
Bend: 90°

F2.3

Material: Conduit
Length: 30” 
Bend: 90ȗ

F2.4

Material: Conduit 
Length: 61”
Bend: 52.5ȗ

F2.5

Material: Conduit 
Length: 31”
Bend: 62.9ȗ 

F2.6

Material: Conduit 
Length: 34”
Bend: 115ȗ

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Pa

ne
l C

om
po

ne
nt

s -
 F

2

S1
2

Fo
r R

ev
ie

w

Sc
al

e:
 N

/A

09
.1

0.
20

17

14
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra



C

C

C

C

C

C

F3.1

F3.2

F3.3

F3.4

F3.5

F3.6

C x 6

Material: PVC
Length: 4”

F3.1

Material: Conduit
Length: 61”
Bend: 52.5ȗ

F3.2

Material: Conduit
Length: 30”
Bend: 90°

F3.3

Material: Conduit
Length: 28”
Bend: 90ȗ

F3.4

Material: Conduit 
Length: 53.5”
Bend: 58.5ȗ

F3.5

Material: Conduit 
Length: 27.5”
Bend: 63.5ȗ

F3.6

Material: Conduit 
Length: 37.5”
Bend: 118ȗ

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Pa

ne
l C

om
po

ne
nt

s -
 F

3

S1
2

Fo
r R

ev
ie

w

Sc
al

e:
 N

/A

09
.1

0.
20

17

15
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra



C

C

C

C

C

C

F4.1

F4.2

F4.3

F4.4

F4.5

F4.6

H
H

C x 6

Material: PVC
Length: 4”

F4.1

Material: Conduit
Length: 53”
Bend: 58.5ȗ

F4.2

Material: Conduit
Length: 29”
Bend: 90°

F4.3

Material: Conduit
Length: 25”
Bend: 90ȗ

F4.4

Material: Conduit 
Length: 51”
Bend: 63.25ȗ

F4.5

Material: Conduit 
Length: 25.5”
Bend: 63.4ȗ

F4.6

Material: Conduit 
Length: 36”
Bend: 118ȗ

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Pa

ne
l C

om
po

ne
nt

s -
 F

4

S1
2

Fo
r R

ev
ie

w

Sc
al

e:
 N

/A

09
.1

0.
20

17

16
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra



C

C

C

C

F5.1

F5.2

F5.3

F5.4

C x 4

Material: PVC
Length: 4”

F5.1

Material: Conduit
Length: 51”
Bend: 63.25ȗ

F5.2

Material: Conduit
Length: 26.5”
Bend: 90ȗ

F5.3

Material: Conduit
Length: 33.5”
Bend: 90ȗ

F5.4

Material: Conduit 
Length: 34”
Bend: 56.4ȗ

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Pa

ne
l C

om
po

ne
nt

s -
 F

5

S1
2

Fo
r R

ev
ie

w

Sc
al

e:
 N

/A

09
.1

0.
20

17

17
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra



A1
, A

2,
 a

nd
 B

 A
ss

em
bl

y
Fo

r R
ev

ie
w

10
.0

9.
20

17

C

C

C

A1

A1
A2

A2

A2.1

B1.1

B1.2

B1.2

B1.1

B1.3

B1.3

B1.3

B1.3

B1.4

B1.4

B1.4
R

R

C x 3

Material: PVC
Length: 4”

A1 and A2

Material: Conduit
Length: 20”

A2.1

Material: Conduit
Length: 12”

R x 2

Material: Aluminum Tube
Length: 32”

B1.4 x 3
Material: Conduit
Length: 19”

B1.3 x 4
Material: Conduit
Length: 6”

B1.2 x 2
Material: Conduit
Length: 68”
Bend: 90Ș

B1.1 x 2
Material: Conduit
Length: 26”
Bend: 90Ș

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Pa

ne
l C

om
po

ne
nt

s -
 A

1,
 1

2

S1
2

Fo
r R

ev
ie

w

Sc
al

e:
 N

/A

09
.1

0.
20

17

18
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra



Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

o�
op

 G
ar

de
n

Ho
op

 H
ou

se

S1
3

Fo
r R

ev
ie

w

Sc
al

e:
 1

’’-
 1

’

09
.1

0.
20

17

19
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

Co
nd

ui
t M

ea
su

re
m

en
t

F1.1 - 6’3” F4.6 - 3’3” B1.3 - 0’6”

F2.1 - 6’2” F2.2 - 2’11” A2.1 - 1’0”

F2.4 - 5’4” F1.4 - 2’6” B1.1 - 2’2”

F3.1 - 5’4” F5.4 - 3’1” B1.4 - 1’7”

B1.2 - 5’11” A1 - 1’8” B1.4 - 1’7” G = 0’5”G = 0’5”

B1.2 - 5’11” A2 - 1’8” B1.4 - 1’7” G = 0’5”G = 0’5”

F3.4 - 4’8.5” F3.2 - 2’9” F3.5 - 2’6.5”

F4.1 - 4’8” F2.3 - 2’9” F3.3 - 2’7”

F4.4 - 4’6” F2.5 - 2’10” F4.2 - 2’8”

F5.1 - 4’6” F5.2 - 2’5.5” F5.3 - 3’0.5”

F3.6 - 3’4” F4.5 - 2’4.5” Brace 4 - 2’10” B1.3 - 0’6”B1.3 - 0’6” G = 0’5”

Brace 3 - 3’5” F4.3 - 2’4” B1.1 - 2’5” G = 0’5” G = 0’5” G = 0’5” B1.3 - 0’6”

F1.2 - 3’1” F2.6 - 3’1” Brace 5 - 2’4”

Brace 6 - 3’3” Brace 1 - 2’4” Brace 2 - 2’5”



J1

J1

J1

J1

J2
J2

J1
J1

J1

J1

J1

J1

J1

J1

J1

J1

J1

J1

J1 

J2 

J2
J2

J2
J2

J2
J2

J3

J3

J3J3 J2
J2

J4

J4

S

S

S

S

S

S

P

P

D1

D1 D1

D1

D1

D1

D2

D2

J5

J5

J5

J5

J5

x 16 x 16

x 10 x 10 x 10

J3 x 4 x 4 x 4

J4 x 2 x 2 x 4

S x 10 P x 2

D1 x 6 D2 x 2

x 4 x 12

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Co

nn
ec

tio
n 

Co
m

po
ne

nt
s

S1
4

Fo
r R

ev
ie

w

Sc
al

e:
 1

”-
1’

09
.1

0.
20

17
20

 o
f 2

9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

1/4” x 2” bolt 1/4” nut

1/4” washer

1/4” washer

1/4” washer

1/4” nut

1/4” nut

1/4” nut

1/4” nut

1/4”  x 2” steel hook

1/2” x 16” acrylic strip1/2” x 12” acrylic

ground anchor

1/4” x 2” bolt

1/4” x 2” bolt

1/4” x 2” bolt

1/4” x 3” bolt

S

S



Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
ej

an
dr

a 
M

ez
a

Is
ab

el
la

 O
uy

an
g

An
th

on
y 

Ra
S1

5
Cu

t S
he

et
s

Ho
op

 H
ou

se
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ju
st

 ‘D
ui

t
Fo

r R
ev

ie
w

Sc
al

e:
 1

’ -
 1

/2
”

09
.1

0.
20

17

21
 o

f 2
9

F5F4F3F2F1

20’-0”

10’-0”

F1

F2
F3

F4

F5



N

S1
6

Te
m

po
ra

ry
 In

te
rn

al
 B

ra
ci

ng
Ho

op
 H

ou
se

Ph
ip

ps
 C

on
se

rv
at

or
y 

Ro
o�

op
 G

ar
de

n 

Ju
st

 ‘D
ui

t
Co

lle
en

 D
uo

ng
Ed

w
ar

d 
Fi

sc
he

r
Ry

u 
Ko

nd
ru

p
 A

le
 M

ez
a

Is
ab

el
la

 O
uy

an
g

An
th

on
y 

Ra

Fo
r R

ev
ie

w

Sc
al

e:
 1

’’-
 1

’ 

09
.1

0.
20

17

22
 o

f 2
9

8’-5”

3’-6”
2’-2”

0’-8”

3’-10”

1’-10”

3’-5”

1’-7”

A

A

A

C

C

D

D

E

E

F

F

B

B

1’-3”

2’-4”

1’-1”

D

1’-8”

3’-3”

1’-7”

C

1’-4”

2’-4”

1’-0”

B

1’-3”

2’-5”

1’-2”

E

1’-7”

2’-10”

1’-3”

F

Components for Temporary Internal Bracing Structure
 To be installed only during Heat Shrink Process 

 Each crimped end measures 2” long



Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Jo

in
ts

 D
et

ai
l S1

7
Fo

r R
ev

ie
w

Sc
al

e:
 1

/2
’’-

 1
’

09
.1

0.
20

17

23
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

End to End :oint

Hinge Joint

2” x 1/4” Screw

1/4” Washer

1/2” PVC Pipe 

1/2” Metal 
Conduit

1/4” Nut

1/2” PVC Pipe 

1/2͟ Metal Conduit

Heat Shrink
Wrap

2” x 1/4” 
Screw

1/2” Metal
Conduit

1/4” Nut

A
Panel to Panel Joint

B
End to End :oint

C
Hinge Joint



Scale: 2” - 1’

1’-0” 1’-0”

0’-1”

0’-7”

0’-1”

0’-2” 0’-2”0’-4”0’-4” 0’-1 1/2”0’-6 1/2”

1. Place acrylic strip onto shrink wrap plastic 1” 
        above bottom edge
2. fold bottom edge 1” up to top of acrylic, then fold 
       acrylic and wrapped plastic up 1” to the bottom 
       edge of the curve
3. Apply light heat to wrapped acrylic to secure 
       in place
4. Place rounded edges of plastic piece onto inside 
      bottom edge of panel intersectionvs  and apply heat
      to secure in place

1

3

2

A

A

A

A

A

A

B

B

B

B

Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Bo

Ʃ
om

 E
dg

e 
Se

al
 D

et
ai

l

S1
8

Fo
r R

ev
ie

w

Sc
al

e:
 1

”-
1’

09
.1

0.
20

17

24
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

Acrylic

Heat ShrinŬ Plastic



Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

o�
op

 G
ar

de
n

Ho
op

 H
ou

se

S1
9

Fo
r R

ev
ie

w

Sc
al

e:
 1

’’-
 1

’

09
.1

0.
20

17

25
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

Gr
ou

nd
 A

nc
ho

r D
et

ai
l

N

68° 68°

90°



Ju
st

 ‘D
ui

t
Ph

ip
ps

 C
on

se
rv

at
or

y 
Ro

oft
op

 G
ar

de
n

Ho
op

 H
ou

se
Pa

ne
l H

an
dl

e 
De

ta
il

S2
0

Fo
r R

ev
ie

w

Sc
al

e:
 1

’’-
 1

”

09
.1

0.
20

17

26
 o

f 2
9

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

Al
e 

M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

0’-6 3/4”
0’

-2
 5/

8”

N

Elevation Ͳ Front siew

Elevation Ͳ BoƩom siew

Elevation Ͳ Side siew

0’-  9/16”

0’-6”



Al
ej

an
dr

a 
M

ez
a

An
th

on
y 

Ra
Co

lle
en

 D
uo

ng
Is

ab
el

la
 O

uy
an

g
Ry

u 
Ko

nd
ru

p
S2

1
St

or
ag

e 
Di

sa
ss

em
bl

y
Ho

op
 H

ou
se

Ph
ip

ps
 C

on
se

rv
at

or

Ju
st

 ‘D
ui

t
Fo

r R
ev

ie
w

Sc
al

e:
  1

”-
1’

09
.1

0.
20

17

27
 o

f 2
9

Step 2:
AƩach Base to Ground Anchors

Step 2:
 frame to base

Step 4:
 hinging mechanism

Step 1:
Embed Ground Anchors



3’-2”

”3-’7

6’-6”
3’-2”

”3-’7

A
1/2” - 1’ - 0”
CFA 211 - Entrance

B
1/2” - 1’ - 0”
CFA 211 - Exit

C
1/2” - 1’ - 0”
CFA 200 - Exit

”01-’6

D
CFA 2nd Floor Plan N

C

AB

N
F

Phipps Conservatory Plan

S2
2

Ho
op

 H
ou

se
Ju

st
 ‘D

ui
t

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

 A
le

 M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

Fo
r R

ev
ie

w

Sc
al

e:
 1

/2
’’-

 1
’ 

09
.1

0.
20

17

28
 o

f 2
9



S2
2

Ho
op

 H
ou

se
Ju

st
 ‘D

ui
t

Co
lle

en
 D

uo
ng

Ed
w

ar
d 

Fi
sc

he
r

Ry
u 

Ko
nd

ru
p

 A
le

 M
ez

a
Is

ab
el

la
 O

uy
an

g
An

th
on

y 
Ra

Fo
r R

ev
ie

w

Sc
al

e:
 1

’’-
 1

’ 

09
.1

0.
20

17

29
 o

f 2
9


	00-Cover Page
	0-Site plan
	1-Plan
	2-Section - Northeast
	3-Elevation - Southwest [Converted]
	4-Elevation - Northwest [Converted]
	5-Planting Diagram
	6-Sun Angles Diagram
	7-Opening Mechanism detail
	8-Construction Schedule
	9-Budget
	10-Studio_SetUp
	11-Component all
	12-Comps
	13-Consuit_Measurement
	14-Connection
	15-Cut Diagrams
	16-internal bracing
	17-jointS
	18-acrylic and plastic minipanels
	19-Stakes_Diagram
	20-panel handle
	21-Assembly
	22-Transportation_Door
	22-Transportation_Holding

